H & 0l & AHS B Ml A

—eTee (£ &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
SAMS 1,290,173 1,197,979 92,194
SAS FRIME HASH 534,184 527,254 6,930
ANEHAE 29 484,184 477,254 6,930
Fody X2 231,572 231,761 A189
202 044l 1,702 1,891 A189
01 =LHOLI 1,702 1,891 A189
OE us 4 =2U 0
60,0002 * 10 *22] 1,200
OLE &AL B4 =LH0HI
50,2003 x5 +23] 502
301 LeEN= 229,870 229,870
o7 & - 01 - HEEsS24= 216,850 216,850
OJlz=¢g 300,000 x45E « 122 162,000
Os& &d0= 300,000 x45&H »23] 27,000
OSg 2o HA=g
20,0002 x45F 22|« 12 21,600
Oery &S| 25,0002 125 =23 6,250
11 SEAAHIXIRES 2,220 2,220 0
OLE Wx, HOILL S &4 B4
10,0003 152 %102/ 1,500
ONBZEF AL S BAT} B4
10,0003 x24H+33] 720
14 DBt 2 a3 10,800 10,800 0
OSE Sl 20,0002 45 « 122 10,800
XS SSAL (FRIE A0l A 200,000 200,000 0
201 2= 106,000 133,000 A27,000
01 AFS2t2ltl 87,000 133,000 A46,000
OO0tz 012 NIE A
10,000,000& »23] 20,000
OEAS Us&H gd3t
4,500,000& 23! 9,000
OEAS HES0t2l 243t
2,500,000 *45 10,000
OCdHE=SXHE W 2120 S8 &4
10,000,000& * 14! 10,000
OO0t d=sls=s 10,000,000 »23] 20,000
O=cl Ot ¢80l XN= M=
10,000, 0003 x 14! 10,000
O=2XX 228 24 X& 8,000
-z € =357
1,000,000 52 £ 5,000
—Z=0 2 Hio 2xz
100,000& x 122 1,200
—NPEE 7Y L B0 R
1,800,000 *14] 1,800
03 HAI2HI 19,000 0 19,000




2AM SAS
MM TAIS FOIME BOIEA
SRl AIEHEE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=cl 20| =0t! 9,500,000& *22 19,000
301 EtE N = 14,000 2,000 12,000
11 #AIAMHIXIE S 2,000 2,000 0
Olt=dtH 243 30 24
10,0002 x50 »23] 1,000
fol 20| =0te! FHL 24
10,0002 %508 »23] 1,000
14 IIEt2 8= 12,000 0 12,000
Oonzd 2% ZA=
60,0002 x40 Al 2k+52) &t 12,000
401 AIZHIX S0HH 80,000 65,000 15,000
01 AlZ2H| 80,000 65,000 15,000
OQ&X? ST 20,000,000 %14 20,000
SHOIIE o B2 22 3P x4
20,000,000& *14{ 20,000
OQ&EX 7 233 JHl
5,000,000 *40H 2= 20,000
OO0IAE &H At=2i2
10,000,000 * 10 2 10,000
OOFEM+=X & &Hl
10,000,000 * 104 2 10,000
FAUZN A 2 1,600 1,600 0
301 LEtE NS 1,600 1,600
11 dAMEEIXIE S 1,600 1,600
O=2IFMUa B E SAH2)| 224
20,0003 x40 +23] 1,600
TR & de2dE X3 51,012 43,893 7,119
201 fer= 3| 27,840 25,800 2,040
01 At 2|l 27,840 25,800 2,040
O=FQUXRAIHE 2et+SHI
150,000« 12& 1,800
O=2XXIE 22 2o+
50,0002 x40 122 24,000
ORQUBHIAIAE HHl X2
170,000& 122 2,040
301 EtE NS 23,172 18,093 5,079
11 AALAHIXIES 1,600 1,600 0
O=FoXxIggs S d&X A
40,0003 »40H 1,600
14 JIEt2d=3 21,572 16,493 5,079
O=2IXXI2l AHESAHAL &8l X2
11,0002 x2Z* 102 * 122 2,640
O=oXtilal =2 MRE = A&
9,860 xBAI 220« 123 18,932
MDA ¥ A2 =SB A 50,000 50,000 0
MEEH SAAMY 50,000 50,000 0




2AM SAS
MM TAIS FOIME BOIEA
ool MEOIRHE U ARD SRAY (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 50,000 50,000
01 Al&H| 50,000 50,000
OF A+ ZHIAE
1,000,000 * 109 2 10,000
OtdZHl At 1,000,000 *200H 2~ 20,000
O=o=8 21g 2Adia
10,000,000& »24! 20,000
CAS sgIEtR= 571,152 491,000 80,152
sgolgtxd 2 N 571,152 491,000 80,152
sIIBEE § A2 SBAY 571,152 491,000 80,152
401 AIZHIX 20HH 571,152 491,000 80,152
01 AlZ2H| 571,152 491,000 80,152
OO0IAIE dEf 222 SF 3|
20,000,000& * 14! 20,000
O=d 4 822 S 233yl
20,000,000& * 14| 20,000
Ousite ¢ MY JUISA
20,000,000 * 14 20,000
OActitE o2 OtAE ZEHZAL
10,000,000& * 14! 10,000
O2dll= ¢&4E 0V 2012
20,000,000& » 14 20,000
OsUE sti+== E8E =4
10,000,000 * 14 10,000
OsditE otz JHISA
20,000,000 *14! 20,000
OsUite =2 FHISA
20,000,000& » 14 20,000
OAEDtE HatAte 15,000,000 *14] 15,000
Os8 HAB2E HHISA
15,000,000& * 14! 15,000
OOIAIE M2 2T SA
20,000,000& * 14| 20,000
O 0t= B2 HBISA
2,857 142370 2= 20,000
O30t & 2 EHIAL
20,000,000& * 14! 20,000
Osts0tE dYZ SHHLEIA
20,000,000 * 14| 20,000
OZdgits o2 JHISA
20,000,000 * 14 20,000
Oelgits o2 OtAZ R Y
10,000,000& * 14! 10,000
OZdi0ts &2 ZHIA
20,000,000& * 14| 20,000
OLsits B¢ 2=
20,000,000 * 14 20,000




2N CAIS
MM CAS SQJIBRE
SER=BICE T

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Oxctits s ZE3A
20,000,000& 14! 20,000
OR=0ts F=XE =4 ESA
15,000,000 14| 15,000
OLE 02 S22 HUISAH
20,000,000 * 14! 20,000
O d=s EtH=2 FHISAM
20,000,000 14! 20,000
O4t0ts dSFY EXI3A
10,000,000 14| 10,000
OSHOIZ o1 HFBAl
10,000,000 & * 1A 10,000
OO0t &Yz &2 FH|
20,000,000 14! 20,000
OUEs 2 0tAE ML
20,000,000 14 20,000
ousite Y =XE =4
20,000,000 14! 20,000
Oelots =248x L b2 |
16,152,000 & 14! 16,152
OHe=E S 7 B EE E&E3A
20,000,000 14 20,000
O&=&otd SILAl A S A
20,000,000 * 14! 20,000
OO0IAIY XIS (Y8u~12n) Y2 S&
SA 20,000,000 14| 20,000
OOIArE (CHOY) B2 EINE =&AL
20,000,000 14 20,000
HHE2IHEHI(ZAS) 184,837 179,725 5,112
el 23| 66,557 65,445 1,112
oI 2| 66,557 65,445 1,112
101 el t| 66,557 65,445 1,112
01 2= 66,557 65,445 1,112
OAZtel2Ray
11,3192+ 15 +30A1 2+ 123 61,123
OAZIRI22H (A2 &)
11,3192 x2Z +4A| 2H+60 5,434
JlE2al 118,280 114,280 4,000
J|1E23&| 118,280 114,280 4,000
201 Let23| 62,980 58,980 4,000
01 ArR22teltl 28,975 28,975 0
OARE3E 7Y 12,0002 x 18123 2,592
OHMIIHNMEFE =2 180,000 12& 2,160
OZHIOIHEE =%
152,000& *12& 1,824
OAYMNMEZ =22 143,000& *12& 1,716




2AM SAS
M #ESHAH|(TAIS)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF=J| & Hitl Xtz
300,000 * 122 3,600
O=AEX 7 (M)
23,0003 6 Ax 123 1,656
O=sAMII &Y s 2¢
300,000 x2CH+62 3,600
Odioldzee e s 7
240,000 2CH*43] 1,920
OHEADET TA 7
14,0002~ 122 168
OSAPI, Zele =& R K]
429,500 <22 859
OoMdlIe=AHE #ESF Y
2,000 %3001 * 122 720
OJl2gexd S2 Al
8,000 x 17+ x 122 8,160
2 S22l 34,005 30,005 4,000
OoRER3 600,000 * 122 7,200
OXIINEZ 1,450,000& «12& 17,400
Oafol== AIE= 70,0002 128 840
Ostes 90,0002+ 122 1,080
OAIZZHl |XId| 150,000« 12& 1,800
OZExte A2l 80,208 x2CH+ 12 1,925
O&sitg =87 Al 160,000 43 640
OMNSIA & 2B FES
120,0002 %12 120
O] E==H| 100,000 *30CH 3,000
202 04| 43,200 43,200
02 XN 43,200 43,200
OZ A 04| 225,0008 x16E 12 43,200
203 HE=AH] 12,100 12,100
01 J|2=2ggR=ay] 7,700 7,700
O=AMSE 7,700,000 *1H 7,700
02 3t R S| 800 800 0
OFEAINIE RS 800,000 *14] 800
M EASHLRFAH 3,600 3,600 0
ORNSgERF=AHI 300,000 * 122 3,600




